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~ bucket of popcorn, at the movie flashing danger messages and damage
theater. The lights dimmed, the reports. Sirens and bells buzzed and

music began, and the audience clanged. | never felt so helpless. It took
quieted. Star Trek Il had just begun.  all the restraint | could muster to keep

Seconds into the opening reel, the from yelling, “Get those shields up!”
crew of the Enterprise was battling ~ And, “Phasers, all you can give her Mr.
Klingon attackers. The Enterprise was Scott!” Or, as a last resort, “Warp drive
getting badly hit. Lights inside the Mr. Sulu. Get us out of here!”

. I' HERE | WAS, sitting with a greatest Federation starship were
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Shleids up, phase:s-locked on, fire phasers. Space Trek combmes
| the excite zof arcade, adventure, and simulation games into
"k n unequaled galactic experience. ~

It may seem that my barely not merely a Trekkie, but an

»
5 controlled impulse to scream experienced Starship Commander.
4 commands at the crew of the Yes, it's true. Not many people know

endangered Enterprise were those of this as modesty keeps me from

an avid Trekkie who, after waiting so attending formal functions in

long for the series” continuation, was Federation habit. 1 did flight training
~ afraid the starship Enterprise would  on a TRS-80 Model I, and later

get trashed in the first five minutes of advanced to Model Il flight. Years
~ the f:lm But that wasn't the case.lam V  Please turn the page...

illuslratian by Rod McCormick
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[image: image5.jpg]of practice has made me ready for the ul-
timate in space adventure, Color Com-
puter Space Trek.

Setting the Scene

You are on the ship’s bridge, sitting in
the Captain’s control chair. In front of
You are your scan and message screens.
Your control panel, asilver grey or bright
white keyboard instrument, connects
you to all the ship’s functions.

The current stardate, your position in
the galaxy, and photon torpedo stockpile
information is listed to the left of your
scan screen. You begin each mission
with 10 photon torpedoes.

To the right of your scan screen is a
color bar. During calm moments the bar
is green. When you enter a quadrant
containing Klingons, the bar flashes red
as the call to battle stations is sounded.
Under the bar are readings for fuel sup-
ply and power to shields, followed by
your current command choice. You
begin the mission with 5000 units of
power.

To start, Starfleet command displays
your orders on the message screen (see
Photo 1). The number of Klingons and
starbases will vary from mission to mis-
sion, but you will always have 32 star-
dates to rid the galaxy of Klingons.

There are two types of commands you
can issue from the helm: direct or via
your ship’s onboard computer. They are
listed in Tables 1and 2, respectively.

Table 1.
Direct Commands

Command Function

1 SetCourse
Local Scanner
Remote Scanner
Fire Phasers
Photon Torpedo
Shield Control
Damage Report
Onboard Computer

Table 2.
Computer Commands

Command Function
1 Computer Guidance
2 Status Report
3 Torpedo Data
4 Computer Course
5 Guided Torpedo
6 Mission Record

ONOU AW

The galaxy is divided into an eight by
eight grid, totaling 64 quadrants (see Fig-
ure 1). Each quadrant is divided into 64
sectors using an identical eight by eight
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grid, as in Figure 2. To set your ship’s
course and aim photon torpedoes use
the compass in Figure 3. Commands are
not acted upon until you press Enter.
Let's run through all of your command
options by going on mission.

Battle Stations

We receive orders from Starfleet Com-
mand and are ready for combat. Our

scan screen is in Local Scanner mode giv-
ing us a view of the quadrant we are in.
We begin our test mission in Quadrant
4,2. Starfleet Command reports 32 Klin-
gons in the galaxy and three starbases.
We have 32 stardates to complete our
mission.

The ship’s whistle sounds to signal a
message from Damage Control. The
message board reads, “Damage Control
Report: Remote Scanner — Upgraded.”
A harmless message, but nice to know.
There are no Klingons in our quadrant so
we press Command 3 for a Remote Scan.
Remember, commands are not activated
untilyou press Enter.

The Remote Scan in Figure 4 shows
that the quadrants immediately surround-
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ing us are full of Klingons. Our quadrant
is shown in the center of the scan. All ad-
jacent quadrants are also shown. The
number in the ones column represents
stars. The tens column is for starbases,
and the hundreds column is Klingons. Im-
mediately above us, in Quadrant 4,1 the
scan shows 101. This means, reading
right to left, that the quadrant has one
star, no starbases and one Klingon. Now
look at the quadrant below us. There are
seven stars, and two Klingons. Time then
for alittle warp travel.

Press Command 1 and Enter. Set
Course appears on our command line
under the shield and fuel gauges. That
reminds me, we'd better power-up the
shields. To get out of Set Course, enter
zero at the Course Direction prompt.
Then press Command 6 for Shield Con-
trol. 250 units is usually a safe amount
for inter-galactic Klingon cruising, so
enter the amount and prepare yourself
forwarpdrive.

Quadrant 4,2 is located at the middle
of the X axis and one quadrant down on

Please turn the page
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the Y axis on the eight by eight galaxy
grid. We'll travel downward a bit. Now
enter 1 for Set Course. At the course
number prompt we'll enter 5. Refer to
your compass in Figure 3. We could have
entered a coordinate using two decimal
places, such as 5.25. That would take us
down and left. You have the same flexi-
bility with photon torpedoes. Anyway,
after entering your direction (5), you will
be asked by your helmsman, the com-
puter, what warp factor. We'll enter a
warp factor of 1 to get at the two Klin-
gons below in Quadrant4,3.

One warp factor is equal to one quad-
rant. Traveling at warp factor 1 moves us
one quadrant in the desired direction, in
this case down to Quadrant 4,3.

Battle stations! Battle stations! The
color bar flashes red, the siren calls the
crew to readiness. On the screen you see
your ship and two Klingon cruisers.
"Raise shields to 400," you shout. (Press
6and Enter, type 400 and Enter.) “Ready
torpedoes!” (Press 5 and Enter.)

Determining torpedo direction takes
practice. If your ship is in the middle of
the screen, or quadrant, and the Klingon
was to your immediate right, aim your
torpedo in direction 3. You might want
to make a copy of the compass in Figure
4 and lean it against your video for quick
reference. Klingons won't wait for you to
thumb through the magazine. If, on the
other hand, the Klingon was to your right
and above you a bit, you might have to
enter 2.33. If you miss by just a hair under
theKlingon, 2.3 might do the trick.

Sound complicated? Novice starship
commanders (and lazy older command-
ers) can call on the onboard computer for
assistance. Choose Command 8 and
press Enter. Your command line will ask
which computer option you want.
Choose 3 for Torpedo Data. The comput-
er will find the Klingon ship and display
its coordinates on the message screen.

dna the computer will Tire the torpedo at
the Klingon. You cannot, however, blast
your way through a star. If your torpedo
passes too close it will be captured by the
star’s field of gravity. When this happens
you'll have to manuever your way to a
clearer path of fire.

Of course you could fire your phasers.
They'll do their damage no matter how
many stars are between you and the Klin-
gons. But the farther away the enemy
ship, the more power units you need to
fire at them. Which brings us to fuel con-
servation.

Even Starships
Run Out of Gas

The following all require fuel usage:
shields, space travel, and phasers. Your
5000 unit fuel supply will rapidly dissi-
pate unless you plan your use of it in a
manner befitting a Starship Command-
er. Photon torpedoes, since they require
no fuel use, are more economical, and, if
you score a direct hit, more deadly. But
your photon supply is limited to 10 tor-
pedoes. So what's a commander to do?
Locate a starbase of course.

Starbases are like a safe areain a game
of tag. You'll have at least one starbase
located somewhere in the galaxy. Once
you've found a starbase, you can refuel
as many times as you need. Each time
you dock with a starbase your fuel is re-
plenished to 5000 units, and you are
given a new stockpile of 10 photon tor-
pedoes. To dock, maneuver your starship
along either side of the starbase.

During the course of your travels
around the galaxy, the ship’s whistle will
sound and a message from Damage
Control will appear on your message
screen. Pay attention to the messages.
Sometimes they will just inform you that
torpedo tubes have been reinforced. But
other times they will tell you that the
computer is out, or your Local Scanner

<hooses these messages at random, they
have a tendency to occur when you least
need additional worries.

Here's a hopeless scenario: You're low
on fuel, out of torpedoes, and have just
entered a quadrant with three Klingons.
Justas you enter the combat area you lose
warp drive ability. Not being able to travel
more than two sectors at a time you have
no choice but to fire phasers (which will
use too much fuel). Against three Klin-
gons you'll need lots of power on your
shields. But the more you have on your
shields the more fuel you'll use. To make
matters worse you still haven't located a
starbase, so even if you do somehow es-
cape the Klingon-crammed quadrant,
you'll use up all the fuel you were plan-
ning to use searching for a starbase. The
thing to do here, is either try to exit the
sector before your shields buckle under,
orgo down with all phasers blazing.

Besides being the nasties of the uni-
verse, Klingons have the bad habit of
cloaking. A cloaking Klingon is an invisi-
ble Klingon. Torpedoes are useless when
Klingons are cloaking. Phasers are the
only weapon you can use against them.
Your message board will let you know
when you've entered a quadrant where
Klingons are cloaking

Computer Scratch Pad

Onboard computer option 6, Mission
Record, is possibly the most helpful func-
tion available to you. It keeps a cumula-
tive record of your Remote Scanner
screens. All 64 quadrants are stuffed
onto the screen. Each quadrant is rep-
resented by a two-digit number. The
ones column is for stars, and the tens for
Klingons. A reverse character signifies a
starbase.

Refer to this screen often. It will tell
you where you've been, which will pre-
vent you from going there again. After
all, the idea of this is to boldly go where
noman has gone before.

Now choose option 5, Guided Torpedo,  isn't functioning. Although the program Happy trekking. -

Program Listing

Use extreme care when typing lines 10-60.
The peculiar looking lines, 20~60, use a special
Basic Interpreter tokenization technique. The
tokens represent color graphics. Line 10
POKES these graphics into strings for you. Type
inthe lines exactly as they appear in the listing.
—Eds.

10 CLEAR250 EEK (25 ) *256 +PEEK
(26) : FORX=1TO5 : READZ : POKESB+Z , 34
:NEXT:DATAT78,119,149,193,237

20 A$= FNFNFNFNFNFNFNUSINGUSINGF
NUSINGFNUS INGFNUS INGFNUS INGFNUST
NGENUSINGFNUS INGFNDIRFNFNFNENFNF

NEN
30 B$= DIRFORFORFORFORFORFORFORF
ORFORFORFORFORFORFORFORFORUS ING

24May 1983
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50 L$(2)= CONTPAINTLOADCONTPAINT
LOADCONTPCOPYRSETCONTPCOPYLOADCL
OADPAINTRSETCONTPCOPYLOADCLOADPA
INTRSETCONTPCOPYLOADLLISTPAINTLO
ADCONTPATNTLOADCONTPAINT

60 L$(3)= PAINTLOADCONTPAINTLOAD
CONTPAINTRSETCLOADPAINTRSETCONTP
COPYLOADCLOADPAINTRSETCONTPCOPYL
OADCLOADPAINTRSETCONTRENUMLOADCO
NTPAINTLOADCONTPAINTLOAD

70 POKE280,TIMER/256:DIMS(8,8),G
(8,8),2(8,8),C(9,2),K(3,3),D$(8)
/B$(30),C3(3)

80 Z$=STRINGS(16," "):¥$=" ...
=STRINGS (7," "):V$
NTERPRISE" : U$="FEDERATION" : CO
BB

90 CLS:PRINT@458,"CC SPACE TREK"
TAB(40)"BY JAKE COMMANDER" ;

100 C$(0)="DOCKED ":C$(1)=CHR$ (1
32) +STRINGS (5,140 ) +CHRS (136) :CS(
2)=CHRS (148) +STRINGS (5,156) +CHRS
(152) :C$(3)=CHR$ (180 ) +STRINGS (5,
188)+CHRS$ (184)

110 A$(0)=STRINGS$(2,192):A$(1)=C
HRS (237)+CHRS (232) : A$ (2) =STRINGS
(2,192) :A$ (3)=CHRS$ (220)+CHR$ (214
) :B$ (4)=CHRS (192) +CHR$ (146) : A$ (5
)=CHR$ (166 ) +CHR$ (169)

120 FORY=1T02:FORX=1TO9:READC(X,
¥) :NEXTX, ¥ : FORX=1TO8: READDS (X) :N
EXT: FORX=1T030 : READBS (X) : NEXT
130 GOSUB1370:GOSUB157 (RND(2
0)+19)*100+RND(100) : TO=T+1: TT=32
:GOSUB1520 : L=RND( 8) :M=RND( 8) :U=R
ND(8) : V=RND( 8) : PRINT@320, "AWAIT
FURTHER ORDERS
140 pama,l,1,1,,
(1,1,1,,-1,-1
150 DATAWARP ENGINES,LOCAL SCANN
ER,REMOTE SCANNER,PHASER CONTROL
+PHOTON TUBES,SHIELD CONTROL,DAM
AGE CONTROL, COMPUTER,SET , COURSE,
LOCAL, SCANNER

160 DATAREMOTE,SCANNER,FIRE,PHAS
ERS , PHOTON , TORPEDO, SHIELD , CONTRO
L, DAMAGE, REPORT , ONBOARD , CMPUTER,,
COMMAND, MODE , CMPUTER , GUIDNCE , STA
TUS ,REPORT , TORPEDO , DATA , COMPUTE,,
COURSE , GUIDED , TORPEDO, MISSION ,RE
CORD

170 FORJ=1TO8:FORI=1TO8:GOSUBL70
0:R=RND(100) : IFR>96 THENK=3ELSEIF
R>90THENK=2ELSETFR>75 THENK=1ELSE
K=0

180 KT=KT+K:R=RND(100): IFR<98THE
NB=0ELSEB=1: BT=BT+1

190 S=RND(8):G(I,J)=K*100+B*10+S
3Z(I,J)=0:NEXTI,J:K7=KT: IFBT=0TH
ENI=RND(8):J=RND(8):G(I,J)=G(I,J
)+10:BT=1

200 IFKT=0THEN170ELSEGOSUB520:PR
INT@320,USING"YOU HAVE 32 STARDA
TES TO DESTROYFLEET OF ## KLINGO
NS: THERE ARE #f STARBASES IN TH
IS GALAXY" ;KT;BT:GOSUB1350

210 CL=0 0:S(U,V)=3:1IF
L<1ORL>BORM<1ORM>8THEN300

-1,-1,-1,,-1,-1,

230 IFK=0THEN270ELSEIFG>200THEN2

60ELSEIFZ9=10R7%7=1THEN250
240 PRINT"YOU HAVE ENTERED A COM
BAT AREA WITH YOUR SHIELDS LOW.

THIS TIMETHEY DIDN'T SHOOT. BE

WARNED!";:29=1:GOT0260

250 PRINT"COMBAT AREA .. CONDIT

ION RED - SHIELDS ARE DANGEROUSL

¥ LOW.

260 GOSUB1330

270 IFB<>OTHENFORI=1TOB:GOSUB131

0:8(X,Y)=5:NEXT

280 IFS<>0THENFORI=1TOS:GOSUB131

0:S(X,Y)=4:NEXT

290 ST=4:GOSUB1420

300 PRINT@128,USINGCOS;L;M;:PRIN

T@192,USINGCOS ;U;V; : IFCL=1THENPR

INT@320,"SENSORS DETECT KLINGONS
CLOAKING - PHASERS NECESSARY":G

OSUB1640

310 IFD(2)<0THENO=0: GOTO370E

LSEO=1:2=38 : FORY=1TO8: FORX=1T0:

PRINT@X*2+Z,A$(S(X,Y)) ; :NEXTX:

2+32 :NEXTY

320 IFK<>OTHENIFZ7=1THENIFRND(2)

>1GOSUB1020 ELSEELSEZ7=1

330 GOSUB380 : PRINT@217 ,"CMD?
v iM2=0

340 H=0

350 GOSUB390:IFA$<>CHRS(13)THENI
FA=00RA>BTHEN 350 ELSEPRINT@249,B$
(A*2-1);: PRINT@281,B$ (A*2)

360 PRINT@320,;:IFAC30RD(A)>=0TH

ENONA+1G0T0330,450,300,710,770,8
50,980,1000,1100,330

370 PRINT@320,DS$(A -~ INOPERAT
IVE":GOSUB1640 : IFA=4ANDCL=1THENP
RINT"ILLOGICAL TO REMAIN HERE,"
PRINT"KLINGONS CLOAKING":GOTO330
ELSE330

380 PRINT@249,X$;:PRINT@281 ,X$::
RETURN

390 A$=INKEY$:IFA$=""THEN420
400 IFAS=CHRS(13)THENPRINT@320,;
1GOTO1640

410 A=VAL(A$):GOSUB380:PRINT@221
+A; :RETURN
420 GOSUB1650 :H=H+1: IFH<280THEN3

GOSUB1520 : PRINT@320, 7 : GO
:IFK<>0THENIFRND(2) >1THENG
0SUB1020 : GOTO340 ELSE 340 ELSEIFRND
(10) <9THEN340 ELSEGOSUB1520 : IFL<L
ORL>80RM<LORM>8THEN340 ELSEFORN=1
TO8: FORQ=1T08: X=INT (G(N,Q) /100) :
THENNEXTQ, N

440 G(N,Q)=G(N,Q)-X*100:G(L,M)=G
(L,M)+X*100 : K=X: PRINT"KLINGONS H
AVE JUST ENTERED THIS QUADRANT":
GOSUB1640 : GOSUB1330 : GOSUB1420 : GO
T0300
450 PRINT@320,;: INPUT"COURSE(1-9
) ";C:IFC=0THEN330ELSEIFC<1ORC>9
THEN450ELSEPRINT@253 ,USING"# . #"
: IFC=9THENC-
460 PRINT@320,;: INPUT"WARP FACTO
R (0-8)";W: IFW=0THEN330ELSEIFW<0
ORW>8THEN460
470 IFD(1)<OANDW>.2THENPRINTDS (1
);" DAMAGED, MAX. SPEED IS WARP
0.2":W=.25ELSETFW< . 9THENW=W*1 .25

480 GOSUB490 : GOTO560

490 IFST=0THENRETURNELSER=0:FORL
=1T08: IFD( 1) >=0THENNEXTELSED(I)=
D(I)+1:IFD(I)=0THENR=I: I=8:NEXTE
LSENEXT

500 IFD(7)<0THENRETURNELSEPRINT@
320, ; : IFR<>0THENGOSUB520 : PRINTDS
(R); "~ NOW FUNCTIONAL.";:GOTO550

510 IFRND(10)<9THENRETURNELSER=R
ND(8) : ONRND( 2) GOTO530 ,540
520 SOUND240,9:SOUND236,7:RETURN

530 D(R)=D(R)-RND(5): IFD(R)<OTHE
NGOSUB520: PRINTDS (7) ;" REPORT
PRINTDS(R) ;" OUT";:GOTO550ELSERE
TURN

540 D(R)=D(R)+RND(5) :GOSUB520 : PR
INTD$(7);" REPORT:":PRINTDS$(R);"
- UPGRADED"

550 GOSUB1640:GOSUB1350:G0OTO1500

560 GOSUB1020: =E/(5*(G/10
0+1)) OELSEN:F =1

570 X=
580 GOSUB650 : FORH= uou GOSUB660 :

ONZ GOTO590,600,680

590 NEXT:IFF=0THENG40ELSEH=H-1:G
010620

600 IFM2<>O0THENPRINT"SHIP HAS SU
STAINED DAMAGE" : FORI=1TO8:D(I)=D
(I)-RND(M2+1)+1:NEXT: IFM2=5THEN6
30

610 PRINT"NAVIGATIONAL ERROR: ";

:GOT0630

620 GOSUBL460:PRINT"ENERGY DEPLE
TED==_— 8

630 X=X-X1:Y=Y-Y1:N=H-1:PRINTUSI

NGDS$ (1)+"SHUT DOWN AT SECTOR"+CO
$iX;¥:GOSUBL640: GOSUB1350

640 U=INT(X+.5 INT(Y+.5) :S(U,
V)=3:GOSUB1390 : IFW<1THEN300ELSEG
0SUB1520: GOTO300

650 D=INT(C):X1=C(D,1)+(C(D+1,1)
-C(D, 1)) *(C-D) : Y1=C(D, 2)+(C(D+1,
2)-C(D,2)) *(C-D) :RETURN

660 X=X+X1:Y=Y+Y1:C=INT(X+.5):D=
INT(Y+.5) : IFC<10RC>BORD<1ORD>8TH
ENZ=3ELSETFS(C,D) <>0THENZ=2:M2=R
ND(2)-1ELSEZ=1

670 RETURN

680 FORJ=1TO8: FORI=1TO:
sNEXTI,J :U=L*8+U+X1*N:
*N:L=INT(U/8) :M=INT(V/8) :U=INT (U
=L*8+.5) : V=INT (V-M*8+,5) : IFU=0TH

690 IFV=0THENM=M-1:
700 GOSUB1520:GOSUB1390:GOT0210
710 0=0:A=40:PRINTQA,YS;: FORJ=M—
1TOM+1:FORZ=1TO3:N(Z)
720 FORI=L-1TOL+1:IFI<1ORI>8ORI<
10RJ>8THEN750

730 N(I-L+2)=G(I,J):IFD(8)<O0THEN
750

740 7(I,3)=G(I,J)
750 NEXT
760 +32: PRINT@A, USING"

N(3)::
=A+32: PRINT@

# FN(1)3N(2)
2:PRINT@A,YS;:NEXT:
2,2$::GOT0330

770 IFST=0THENPRINTCS(0);" —
GOTO370ELSETFK=0GOSUBL620 : GOTO %S
0

780 GOSUB1500:27=1:IFD(8)<0THENP
RINTD$(8) ;" FAILURE-MANUALLY ";
790 PRINT"LOCKED ON. ENERG
800 INPUT"UNITS TO FIRE
OTHEN330ELSEIFF>E THEN780
810 PRINTE320,;:E=E-F:GOSUB1400:
IFD(8)<0THENF=RND(F)
820 R=320:FOR: TO3:IFK(I,3)<0TH
EN840
830 H=F/K:J=.98:GOSUB1320:K(I,3)
=K(I,3)-H:PRINT" KLINGON - ";:GO
SUB1640:IFK(I,3)<0THENX=K(I, 1
=K{(I,2):G0SUB1560ELSEPRINTUSING
AT SECTOR"+CO$+" (### LEFT)":K(I
Listing continued on page 46
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+1);K(I,2);K(I,3);:GOSUB1350

840 NEXT:GOSUB1020:GOT0330

850 IFP>0THEN860ELSEPRINT"ALL PH
OTON TORPEDOES EXPENDED.":GOTO33

0
860 IFCL<>0THENGOSUB1630:GOTO330

870 PRINT@320,B$(10);:INPUT" COU
RSE (1-9)";C: IFC=0THEN330ELSEIFC
<10RC>9THENS70 ELSEIFC=9THEN
880 27=1:GOSUB1530:GOSUB650 :
X1:Y=v-¥1:GOSUB1690 : GOTO910
890 PRINT@Q,CHRS(214);:GOTO910
900 PRINT@Q,CHRS(128);

910 GOSUB660 : IFZ=3THEN960ELSEIFY
=INT (Y)AND THENGOSUB1600 : PRIN
T€Q, CHRS (159) ; : ONS (C,D) +1GOTO900
1920,900,890, 940, 950ELSEONS (C, D)
+160T0910, 920,910,910, 940,950
920 FORI=1TO3:IFC=K(T,1)ANDD=K(I
+2)THENK (I, 3)=-1:X=C:¥=D:R=320:G
0SUB1560

930 NEXT:GOTO970

940 PRINT@352,USINGB$(10)+" CAPT
URED BY STAR GRAVITYAT SECTOR "+
CO$ ;X;Y¥:GOT0970

950 GOSUB1580:PRINTE320
NE! STAR BASE DESTROYED
BT=BT-1:M224: XoC:Y=D: COSUB1550 17

RINT@352,"DAMAGE HAS THROWN YOU
OFF COURSE";:C=RND(8) :W=RND(8) /2
:GOTO560

960 PRINT@352,B$(10);" MISSED."
970 GOSUBL020:GOT0300

980 IFST=0THENPRINTCS$(0);" - ";:
GOT0370

990 PRINTE320,
S ON SHIELDS";

INPUT"TOTAL UNIT
FX<O0ORX>E+G THE
N99OELSEE=E+G-X:G=X:GOSUB1400 : GO
SUB1410:PRINT@352, "ENERGY CONSUM
PTION IS NOW";5%(G/100+1):PRINT"
UNITS PER SECTOR":GOSUB1640:GOTO
330

1000 R=0:PRINT@320,"NEXT..

LETT Y

1010 AS$=INKEYS$:IFA$=""THEN10l0EL
SEIFASC(A$)=13THEN330ELSEIFA$<>"
~"THEN1010ELSER=R+1:IFR>8THEN330
ELSEGOSUB1510 : GOT01010

1020 IFK=0THENRETURNELSEIFST=0TH
ENZ7=0:PRINT@384 ,"STAR-BASE SHIE
LDS PROTECT THE ";V$;:RETURNELSE
R=320:FORI=1TO3:H=K(I,3): IFH<1TH

ENNEXTELSEJ=1:GOSUB1320 : PRINTUST
NGU$+" FROM SECTOR"+CO$;K(I,1);K
(I,2);:G0SUB1640:G=G-H:GOSUB1360

:NEXT

1030 GOTO1410

1040 PRINT"THE "VS$;" IS DEAD IN
SPACE.YOU ARE AT THE KLINGONS' M
ERCY" : FORZ=1TO6 : GOSUB1350 : NEXT
1050 IFK=0THEN1080ELSEGOSUB1020:
GOT01050

1060 PRINT"IT IS STARDATE
SUB1640 :GOT01080

1070 PRINTE320,"THE "+V$+" WAS D
ESTROYED" : PRINT"THE ";US$;:" WILL
BE CONQUERED" ;

1080 PRINT"THERE ARE STILL";KT
KLINGON" : PRINT"BATTLE-CRUISERS S
URVIVING." :END

1090 PRINT"LAST BATTLE-CRUISER D
ESTROYED PRINT"THE ";U$;" IS
SAVED 11":PRINT'YOUR EFFICIENCY
K7/(T-T0)*1000 : END

16O

GOSUB380 : PRI

217,"0PT

1120 GOSUB390: IFA>6THEN1120

1130 IFAS=CHR$(13)THENONA+1GOTO3
30,1290,1150,1160,1170,1280 ,1140
ELSEPRINT@249,BS$ (A*Z417) ; : PRINT@
281,B$(A*2+18) ; : GOTO1120ELSE1120

1140 A=0:FORJ=1TO8:FORI=1T08:CC=
INT(Z(1,3)/100):0=INT((Z(I,J)~CC
*100)/10) : POKE1064+A+(I-1)*2,CC+
112:POKEL065+A+(I-1)*2,%(1,J)-CC
*100-0*10+112-64*0:NEXT : A=A+3,
:GOTO1110

: FORA=40TO266STEP32 : PRIN
NEXT:PRINT@41,"STATUS RE

NG"KLINGONS =##";KT;:PRINT@137,"
PRINTUSING"STARDATES=#$" ; TO

THENGOSUB1620 : GOTO1110
:FORF=1T03 : IFK(F, 3)<
OTHEN1270ELSEW=K(F, 1) :X=K(F,2):G
0T01180

1170 PRINT@384,"ENTER START AND
END CO-ORDINATES":PRINT@320,;: IN
CC,A,W,X: IFCC-W=0
:X=0:2=0:GOT0126

ANDA-X=0THENCC=
0

1180 PRINT@352,;:X=X-A:A=CC-W:IF
X<O0THEN1220ELSEIFA<OTHEN1240ELSE
IFX>0THEN1190ELSEIFA=0THEN1230
1190 cc=5

1200 IFABS(A)<=ABS (X) THEN1210ELS
ECC=CC+ (( (ABS (A)-ABS (X)) +ABS (A))
/BBS(R)) :GOT01260

1210 CC=CC+ABS(A)/ABS(X):GOTO126

0

1220 IFA>O0THENCC=7:GOTO1250ELSET

FX=0THEN1240

1230 CC=1:GOT01200

1240 cc=3

1250 IFABS(A)>=ABS (X)THENCC=CC+A

BS (X) /ABS (A) ELSECC=CC+( ( (ABS (X)

ABS(A))+ABS (X)) /ABS (X))

1260 PRINT@352,"COURSE =";CC;:CD

=INT(SQR(X"2+A"2)) :PRINT", DISTA

7CD:GOTO1110

1270 NEXT:GOT01110

1280 IFD(5)<0THEN370ELSEIFP<1ORC

L=1THEN850 ELSETFCD<>0THENC=CC : GO

TO880ELSE1300

1290 IFCD<>0THENC=CC :W=(

0

1300 PRINT"NO DATA AVATLABLE FOR

GUIDANCE SYSTEM":GOTO1110

1310 X=RND(8):Y=RND(8):IFS(X,¥)<

>0THEN1310 ELSERETURN

1320 H=(H*2/SOR((K(I,1)-U)"2+(K(

1,2)-V)~2))*(J*RND(0)+.2) : PRINTE

R,USING"### UNIT HIT ON ";H;:GOS

UB1640 :R=R+32 : RETURN

1330 IFR<>3THENIFRND(10)>7THENCL

=1

1340 FORI=1TO3:K(T,3)=-1:NEXT:FO

RI=1TOK :GOSUB1310:5(X,¥)=CL+L:K(

I,1)=X:K(I,2)=Y:K(I,3)=200:NEXT:

RETURN

1350 FORZZ=1E3 TOL.8E3:NEXT:RETU

RN

1360 FORZZ=H*.25+1TOLSTEP-1:SCRE

ENO,1:PLAY"T25501;12" :SOUND255,1

:SCREENO, 0 : NEXT : RETURN

1370 PRINTQO,A$;:FORX=1TO8:PRINT

TAB(7)B$:NEXT: PRINTLS (1) ;

1380 PRINT@33,"DATE";:PRINT@97,"

PRINT@90,"FUEL" ; : PRINT@16
,"SHLD" ; : PRIN

:GOT047

1390 E=E-((N*5)*(G/100+1))
1400 PRINT@122,USING"###%"
SUB1420

1410 PRINT@L86,USING"###4":G;:G0
SUBL500 : TFG<OTHEN1070ELSERETURN
1420 FORZ=U-1TOU+1:IFZ<10RZ>8THE
NNEXTELSEIFS (2,V)=5THENZ=U+1:GOS
UBL610 : NEXT : GOTO1470 ELSENEXT
1430 IFK=0THEN1450

1440 IFST<>3THENST=3:GOTOL1480ELS
E1470

1450 IFE>300THENST=1:GOTO1470ELS
EIFE>5*(G/100+1) THENIFST<>2THENS
T=2:G0TO1480ELSE1470

1460 PRINT@320, ;: IFG=0THEN1040EL
SEPRINT"YOU HAVE";E;"UNITS OF EN
ERGY. SHIELDS ARE TAKING";G;"UNT

iE;:GO

TS":GOSUB1350 : IFD( 6) <OTHENPRINT"
BUT, ";D$(6);:" IS OUT.SITUATION
IRRECOVERABLE." : GOTO1040ELSE1440

1470 PRINT@S7,C$(ST);:GOTO1500
1480 FORFL=1TO5:PRINT@57,C$(ST);
:FORZZ=1TO50 :NEXT : PRINT@57,C$ (1)
: FOR22=100TO50STEP-4: SOUND2Z, 1
NEXTZZ : IFST=0THENSOUND200 , 1ELSES
ouND1,1

1490 NEXTFL:GOTO1470

1500 PRINT@320,;:RETURN

1510 GOSUB1640::PRINT@320,DS(R);
TAB(14);D(R); TO1500

1520 T=T+1:PRINT@64,T;:GOSUB1500
:IFT>TO+TT THEN1060ELSERETURN
1530 IFST=0THENP=10ELSEP=P-1
1540 PRINT@257,P;:GOTO1500

1550 GOSUBL580:S(X,Y)=0:G(L,M)=K
*100+B*10+5 : RETURN

1560 K=K-1:GOSUB1550:GOSUB1420:P
RINTER,USING"KLINGON AT"+CO$+" D
ESTROYED" ;X;Y:R=R+32:GOSUB1640:K
FKT=0THEN1090ELSEGOSUBL3
THENCL=0 : RETURNELSERETUR

N

1570 ST=0:FORZ=1T08:D(2)=0:NEXT:
000 : PRINT@121,E;:GOSUB1530:
GOT01410

1580 IFO<>1THENRETURNELSEGOSUBL6
00 : FORZ=1TO40 : ZZ=RND(10) : PLAY"T2
5501=2% ;" : PRINT@Q+RND(2) -2, CHR$ (
128+RND(62)) ; : NEXT

1590 PRINT@Q-1,CHRS$(128);CHRS (12
8)7:GOT01500

1600 0=7.5+X*2+32*Y:RETURN

1610 IFST=0THENRETURNELSEPRINT@3
20,"SHIELDS DROPPED FOR DOCKING"
:GOSUB1640 : GOSUB1570 : GOTO1480
1620 PRINT"SENSORS DETECT NO KLI
NGONS IN  THIS QUADRANT" :RETURN

1630 PRINTDS$(5);" WILL BE OF NO
USE ~USE ";B$(8):GOT01640

1640 ZZ=PEEK(137):PRINTSTRINGS (1
535-(PEEK(136) *256+PEEK(137)),32
)51 POKE137,%% :RETURN

1650 SC=SC+1:IFSC>3THENSC=1

1660 PRINT@288,L$(SC) ;: IFST>1THE
N1680ELSETFSO=0THENIFRND(20)>19T
HENSO=16ELSERETURN

1670 S0=S0-2:IFSO<2THENS
RNELSEPLAY"V=S0;L32T205G" :RETURN

1680 PLAY"L32T2V8OLA'
1690 PLAY"V27":FORZO=5TO3STEP-1:
FORZN=12TO1STEP-1:PLAY"L2550=20;





